#HEBIEA BES

HAEUEE SERFHNRE

(B) ¥Em314F481H

() HH243H318

e —

H_5

F=H BT H=%FMNIAERIR)

(8347 : /)
EEESE] FNREEHLEAR S &t AIEPERGLE L FERDET

NGNS 0 0
REEH BRI 0 0
REERINZ 0 0

W | sm s 0 0

o | | EmERRas 0 0
| EHEEEH R 0 0
bl [Eotioms 0 0
BPEBNRESET (1) 0 0 0 0

?( A& 23,106, 679 23,106,679 23,106, 679
A E =S 0 0
E2) Epi- 11,812, 042 11,812, 042 11,812,042
1| |mEBzEm 0 0
| g | RIS R 0 0
o | g | PR 2,043,908 2,043, 908 2,043, 908
" ERE RS SR S IR 506, 660 506, 660 506, 660
: BT AEER 0 0
BURTEES | SR 0 0
ZOMOEER 0 0
H-EEEHERET (2) 36, 455, 969 36, 455, 969 0 36, 455, 969
J-EXEBNERESE (3) = (1) - (2) 36, 455, 969 36, 455, 969 0 36, 455, 969
BASFISMENRINE 0 0
SRS RS SIT 1,322 1,322 1,322

Tz i 0 0
BT 0 0

9| R | sy sz 0 0
|| 3 | e s 5ot 0 0
€| |EAtEms 0 0
2| |EEETms 0 0
| |zothoy-tiEmsRES 5,990 5, 990 5, 990
g || -CAEBSIEEE (4) 7,312 7,312 0 7,312
o| [ERAR 0 0
| [BEEESEHEA 0 0
B |efmrsssnE 0 0
| g |seE A AT 0 0
O | o | REHMmIES TR 0 0
| | BB 0 0
= (i) 0 0
ZOMOY P EHIER 16, 127, 800 16, 127, 800 16, 127, 800
B—PEBIIMERET (5) 16, 127, 800 16, 127, 800 0 16, 127, 800
J-EXEBIMERELE (6) = (4) — (5) 16, 120, 488 16, 120, 488 0 16, 120, 488
REERERE (7) = (3) + (6) -52, 576, 457 -52, 576, 457 0 -52, 576, 457
e Bt 0 0
MRS B RN 0 0
EHSESEEATEERSM SIS 0 0

B EESE 0 0

1 |BE B 2,769, 800 2,769, 800 2,769, 800
FERHWBADINE 0 0
WARHRIBARIUZE 0 0

| |PEESMEEAEEERS 0 0
g [REESMEE AR 0 0
ZOOAERIRES 0 0

B [wsBuRsst (8) 2,769, 800 2. 769, 800 0 2. 769, 800
W |ExemEAE 0 0
0| |aEFma 0 0
w| |EEEEsE-05E 2,492,836 2,492, 836 2,492, 836
EEM LSRRI SIS (2105) 0 0

B | EE e S BI SR 0 0

A |sesmims 0 0
EERHWECEEBEHEA 0 0
NEARHHETEEBEEA 0 0
ZOMOIERNELE 0 0
ERITAET (9) 2. 492, 836 2. 492, 836 0 2. 492, 836
ERIEHEER (10) = (8) - (9) 276, 964 276,964 0 276,964
LETESEREE (11) = (7) + (10) 52,299, 493 52,299, 493 0 52299, 493
[ IERE A EENEREEE (12) 275, 624, 520 275, 624, 520 275, 624, 520
» SRR MEBNEHAEEE (13) = (11) + (12) 223, 325, 027 223,325, 027 0 223,325, 027
» [EASHEHE (14) 0 0
¢ |zt 2B EHEE (15) 9,400, 000 9,400, 000 9,400, 000
= [zofhotErr&HEEE (16) 17,776, 000 17,776, 000 17,776, 000
s [EpmsEs LS (17) = (13) + (14) + (15) — (16) 214, 949,027 214,949, 027 0 214, 949, 027

1/1




